Bellwork HonAlg2  Monday, February 6, 2017
1. Q varies jointly with the 4 and the cube of B and inversely with the square of C. 0 = 57.6 when

A=6,B=4,andC=>5
a) Write a variation equation with the value of k rounded to the nearest hundredth as necessary.

b) Find the value of B when Q = 750, 4 = 10, and C = 8. Round to the nearest hundredth as
necessary.

2. P varies directly with the square of H and inversely with the product of Tand W. P = 19.2 when

H=8T=-2,,andW=56
a) Write a variation equation with the value of % rounded to the nearest hundredth as necessary.

b) Find the value of Wwhen P = 120,H = 5,7 = 18

3. Suppose that T varies directly with S and inversely with the square of R.
a) How does the value of T change when the value of S is doubled?

b) How does the value ofT change when the value of R is doubled?

Bellwork = Hon Aig 2 Monday, February 6, 2017 M]

1. Q varies jointly with the 4 and the cube of B and inversely with the square of C..0=57. 6 when

A=6,B=4andC=5 . Qké-_%-_’
a) Write a variation e%uatron with the value of & rounded to the ne th as necessary.
S7.= K (EXHZ AB3
G 3,15 Q=375 2%
b) Find the value of Bwhen Q = 750, 4 = 10 and C = 8 Round t nearest hundredth as
necessary.
=3 73"(@)5 > ) '
120 f 2 B = 1O, ¥ 2
2. P varies directly with the square of H and inversely with the product of 7and 7. P = 19.2 when
H=8T=-2,and W=6 p= w4z
a) Write a variation equation with the value of & rounded to the nearest hundredth as necessary.
=3 L, Hz (5") =
EW__,__L&'_J .2 = k=-3.
b) Find the value of Wwhen P = 120,H = 5,7 = 18 _ (_L)(")
(5)* 2o _ —99 o — .
120 = 2. (5 _— »-—-—!—-— = "‘_’gw — 10 = o vo
g ! [ = o
VW — e

3. Suppose that T varies directly with S and inversely with the square of R. e : 0.0
a) How does the value of T change when the value of S is doubled? \J

T’ lS e\oa.;b\()('\
b) How does the value of T change when the value of R is doubled?

TS \/"{ as l')\l\C — (‘éc(bLu«\ 10\7

-(—CLL;R Y (l 4“

Tk 7




